@ 40° @46° @ 50° @ 52°

® 56°

B

/D = 180° — 110° = 70°
AACD oA

LACD = 68° + 70° + 88° — /z = 180°
/x = 226° — 180° = 46°




@3:6=4:8 = 1:29 G3H]7 JH3
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3.  AABC oA AD &= HA]ZF LA 9] o] FEAY f, x o g FoHH?

@ 9cm @)10cm @ 1llcm @ 12cm ® 13cm

x:(x—2)=5:4
4x =5x-10
. x = 10(cm)




@® AB:AE=BD:DC @ AC=38
® /DAC = /ACE (@) aACE £ Aa7Fgoltt.

® /BAD = /AEC

AD & aACE 9] 9|Z+9] o] 5E 40|22 /DAC = /ACE ©|th.
w}t2tA] /BAD = /AEC ©]1 AACE £ o]5#H Az o]},




5. TF2 193} Zo] DE//BC 4 ], 2x+ 7y 9

&2
@ 10 @ 11 @13
@ 15 ® 17

B ~

10: (10+x) =8:10

%= 2H

5 25 20
Weg=vip?=7
_8
YT 7

L2+ Ty=5+8=13




6.t 194 AD//EF//BC 9 1, DF : FC ] H]+=?

-ocm-~ .

D 2:3 @3:2 ® 4:9 @ 2:5

DF:FC=AE:EB=3:2




o2 oA F AZHE V- ABC 9V - A'B'C/ = &2 T go|t}.
AB = 4cm , VC = 12cm , A’B’ = 6cm , Z/ACB = 52° 4 o, V'V
o] do|e}t LA'C'B’ &) 2717

'V/
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\
12em
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C / __vbL_ C’
4cmd \
B 6cm f
@ 16cm, 50° @ 16cm, 52° ® 17cm, 52°

@ 18cm, 50° (@)ISCm, 52°

S5 \
AB :A'B' =VC :V'C"

4:6=12: V'C",

4V'C =72, V'C’ = 18(cm)

/A'C’'B’ = /ACB = 52°
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9. o5 2delA BC 9 Zel?

@ 13cm @ 1l4cm @15cm @ 16cm ® 17cm

B

(A7} FE5ola,
AB:AE=AC:AD=3:20|B&
AABC o AED (SAS H2)
3:2=BC:10

BC = 15(cm)




oS oA ,ACD = /ABC, AB=9cm , AC = 6cm € T, AD

o Zol7

@ 2.5cm @ 3cm ® 3.2cm

®)4cm ® 5cm

A£ T, /ACD = /ABCO|ER AABC AACD (AA &
=) °lth

B:AC=AC:AD

:6=6:AD, 9AD = 36°|22 AD = 4(cm)©|t}.

N

© >




11. o= Z™elA x o gt& F5Hd?

@ @ 5 ® 48
@ 45 ® 4

AB2 =BD-BC
16 = 2(2 + x)
2x=12,x=6




12. AABC °A (A o] o] 5243 ¥ BC o] w42 D = & o, AABD
©] §ol7} 28cm? o], AADC 9] Ho]=?

@ 1l4cm? @ 18cm? ®)21cm?

@ 24cm? ® 49cm?

S5 \
AB: AC = BD: DC o|E=2

BD:DC=4:3

m2hx] AABD 9F AADC 9] Ho]9] Hli= 4 : 3 o]t}

AADC O] Ylo]E x2} olH 4:3 =28: x0|B&

x = 21(cm?) ]t}

m2tA AADC 9] Bl o]+= 21 em? O]t
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13. S gaarHgolnt AR AR Q] Zo]
Fot?

@7.50m @ 6.5cm @ 5.5cm
@ 8.5cm ® 9.5cm

AAFE o ACFB o|B=2
6:8=AE:10
. AE = 7.5cm




@ AB 9] ¥ A'B’ o]t}

© 9 VBCo| tf-gsh= W& | VA'B o[t

© Warle=2:1 0t

@ aHlE3:40t

® 9 VABO| tf-&5h= W& W VA'B ©|tt.
® a0 06 ©® 9,0, ® 0,66
@)0, ®, @ ® 6.6,0

© W VBCol st B @ VB/C ol

© H=Hl=3:4 ot
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